—

Zichéw § o Mol Beudpn Scepls [
Assuume X; /u/f//// 72) o=

owd X(‘ ‘ﬁrt; fna(aPeuﬁUw‘pL.

we will sha 7(:&4—
O X = T‘L(Z“X ~ /‘/(/u/ 9?2)

& 2 (k)

v |\
& s = Z_(XL' p)f_) ~ QC('n—t)
Tz —

Ge







g Assant X, ~ X¥%v,)
Xy ~ K> (r,)
YM ~/><2(rn)
M y‘ 1Y R ;V‘?. j{
72@X14’Xz_+"'+—x“/ .{/z&\
Vo~ Z/Z(’”"“’z‘“”' + t’,\).

Tl Rews pho  MeF o K(r) s

M(«é}" rzl{_)r/,_ 4 <2 4

) 2

Thos Mx/ (+) = Tr Mi ) =

, - —-—Q
A
= ()

=W (1-2¢) *
= MEF 06 N* (r, o+ "‘)




&

fm//ﬂ‘ x
vl At Z ~ alar), Ha
-Z?.N %Z(i) |

Also rw@ WL&@‘/’ /{ Kﬂ/(/ca/q""//
Hhan X{,—_f ~ N(6,4) anel




(b) =)
(n-)5?
Ch = (X
= Jsx :
~ 7(‘(
" :L}

E)(@m,ie 4
K S S e G
XC' e d
| ‘ /V .
1/\/ 7L /\5‘ y é‘{‘l} "/ z') 4 C‘
L H L At “f )/ 7 i 7 X o

SA
AN /V{Zq/q
(/ 2. 4
z"q”)

(see Lw@-
f, 3’011)




